Algebra2  Bellwork Tuesday, November 18, 2014

Find all real and imaginary solutions to each. Simplify your solutions.

1. 5x>+150 =30 2. 13 -7x* =38

3. (x+1D2+73 =1 4. x2—6x+58 =0

5 —4x*+20x-37=0

1
Algebra 2  Bellwork Tuesday, November 18, 2014 ANSWELS
Find all real and imaginary solutions to each. Simplify your solutions. T’"/'_—
’X IRCTAE
1. 5x2+150 = 30 . 2. 13-7x2 =738 = - =
-150 /50 x= 3T @ . =1% =1%
g T2 ly- tzifé\ A S D\
> e FE - B
: == =T
3. (x+11D)2+73 =1 4. x*—6x+58=0
=75 7%
_— A L s ={%
()= =1-77 br-Hac = b
gt & E1g R izﬁf,g— LA z:/?ép = Zf,_t/LM
. =
A o
e = e ®
5. —4x2+20x—37=0 X= L7L

bz‘,‘-[ac = “(q'z—

oy TPz a0 8L

zox \ —
-5 — &

[ K= <= i2f
-2 j



